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Trme durarion :: tus.

Inslrucnons. l) A1l.luesrions a.e conlpnlso,,1.
l) ligures ro dre .ighL lDdicdte marks
l) Gaph papeB rviLl be supplied on requesl

l. Atrempr the tbLloNlng

a) shory fiar Lhe poinB (-u). 0,-l) and (2,6) are the verices of atr

isosceles righr angled triangle.

b) Ii/(,)=4,'-ri and s6)=?r. fiDd ,r(cG) -a eGG)

(5 \ -l=20)

.) Ir aLuaic lim

Dille.entrate lhe lbllolving tun.tions \yith respect to ,

'r (''*s[- z)

The conrbined cost oi'a clcle dnd a

are in the .atio l5:10. fin.l the cov

o'f

is Rs 10.000 ll Lhei .o\1
.\.le r the wirch.

Y,.,t
OR

find the coodinates ol the points on the r axis \hich are at (5 t,r=20)
a distance oI l0 uDits tiom (3, 6).

1l the demand tunction is given by D=25 ap+p'. lind Lhe elasticit]
ol demand \vlth respecr ro the price when p=8

at rhe Poinrs j and L

I



i) Jr'G+5!&

i) lll!
(rllorving tunction \rih re5lerr rr J

ii)'''*;+6'+"'

z) The dail) incohesol A and B are in rhe rario of.r:l dnd rhef
expenditures arc in the .atro of .].2. Il the) each srye Rs. 600 al
he d d ur rlc dJ). l1d 'l<'i d..'1. 1.on..

tb

ii) I

(5 \ 1=20)

G+r).'-{.+rh'.

b) ,{=( 2, I). B=(3,2) represent a diamlter of a crcle. Find rhe
coordinales of the c$re ol rhe .ir.l.

c) A firm Fmduces , r(nx of an itern

c{r)= -:r'-9,I+35i+ l7
IO

Find i) Ihe avehge cosl
i) Tl" r .dginJl !o.. ul.! r, ror,j

d) Whar numbe.should be added ro each ol the numbea
rle € ukd I nunbel 'DI he :n -o 'ri e,l pron.,1iorl

5.9 Md 15

.) I-ind rhe eqnation ol-the line pasing rhrough rh. poiurs (3J) .nd (-r,r)

()R

ll. Atrcnrp! the lbllo\.ingl

\) Erdlualc (he iallo\!ins irnrgra s

ir I(J +r,)& ir j(rr'+rr-r),

\)Shoq rhar,4(r.0.,( l.e) and.(a, r)a,r collirc|r poiI6

\) Ihc demand iid.lion ibr . .omnrodity is giren b) p=20-2Dl
liNl (i) re totdl reveiue lnnrrnnr.

(ii) th. nurgilal re\enue tI..rion.
(ir )nfrg]ndl ierenrc $hef D=2

rS \ r:101./

--.--,2--.---



tind Ue mean prolonronal ol I and

Findfi. equatjoD of rhe lbe passing
parallel to a line halins slope 5.

J ll. Atrenrpr the iollo\!ing:

! ) Find the equarbn ol a line \rhich passes
,,1 'lt l:r-s r 2) I o J 'd .lr 4r s-u
ro rhe line r-lrr+5=o

r01ll.

Lhroush the poinr (1.2) ar.l

tl

(

-r .\rrempt the follolvinc l

,, I i' i ,\. ,. uJ':, " ^ d irc. ro - 1. r1( .-iJ,, r, [^in' 01
lnt.rscct on r'rhr ires r+r=5 anJ r l=l

b) Verit! if lhe curve ar-2r-3=o is increasing o. dec.easing ar rhe

Poinls r-3 ahd r= I

ri \ l=]U)

\

c) The denrand lunctron lbr a commodity is p=30+2r l':. Find e

Consumcis Sn.ph$ ar r=3

dl lf the demand iihclion is given by D=25 4p+p".Find rhe elasriciry
of demand wilh reslect to the price when p=8

c) The expenditure on food Ib. a lanril). was Rs 10.000 per nronrh. Ir
increased ro Rs. ?5.000 per monlh. Fi.d ihe percenlase increlse in
e\pendiiure on tbod.

OR

(5 x r=20)

thurgh the point of lntersccLion
and {hjch is pcrpendicular

!r) Ihe sensex is glven b) lhe fun.rion /(,)=ri-48r+5,{here r rcpresenrs
the litctor crtsring lhe rise or lall in rhe sensex. FiId tbr {har latues
rI r rhe "enk\ i" ':, irL-cd.'," {r''Jc.1(,i ts.

The denrand tuncrion tbra certain commodiL), is p=16 4r.
Find the consumeas sr.plus ar r=3

ii Lhe denund D is gilenb) D=12+4p p), p being .he price, und lhe
p.ice elcsrlclt) oi Deniand \hen 2=1.

\l



/) A hdn donales l% and spends 90% ol his monthl) hcome. If he sa\es
Rs.5000. find his monthl) incone.

I Atenipt the lbllo$.ing'

a) Nlarimise z=r+, subject to r+2/<8, 3,+2!<12. r>0. r>0.

b) If the denrand irncdon is p=2s 2r and the supply tunction ls

p=4'-2\. l\nd rhe Produceis SulPlus.

{i r.l=20)

c) A manufactL,rer tinds [hat lhe total cosr ol producing r unirs dail) is

ts (:'+r+s) and thc pri.e is Rs. (lo r) per uill Find the output r
$hlch DalimiTes the frcfiI.

d) Eind the second o.de. padral derilatiles ol the tun.tion

/G.t)=,' +eLy" - y'.

e) A mantrl_acturer Sives a discount of l0% on t]f goods sold. He t-urther

gives 10% dlscount. if palnrenr is made in cash immedialelr- Find the

purchase price ol the afticle, \{hose ma.ked price is Rs. 1,000.

T\ \uempr rhe fi'lktrLiig: 15 r .1:lr)l

r) Nlaxiiiise ?=6r+4, subjecl lo 2r+lr<lo. lr+2r<24. a+r23 i>0, ]y>0

$r Il lhe demand ltrnction is p=21-61 3r: dnd lhe $rPp!) tunctiotr is

p=s; +2a+1. find lhe Produceis S!+lus. "'

\) A frrm produccs rn outpul of r rons at, total cost c=,r-4,r+1r'
Find the oulput al which the avemee cost is lhe least

r-) I'ind thesecondpanial de,ivali'es ol /(,,),)=2r' 6r'r+,{,'r -3r' at (1,2)

z) A publisher sells 80 books ol Business Malhematics lbr Rs.6.11'1 ll dre

list price ol' rhe book is Rs 96. calculate the rale of trade discounl.


